www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10

Technical
specification

Flygt D 8050, 50 Hz

rrReE—

a xylem brand



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10

Table of Contents

Table of Contents

D 8050......c etttk sttt ettt nes 2
P rOTUCT -ttt b etttk b et enes 2
D ENOMINGTION ...ttt 2
PrOCESS dATA. ittt 2
1Y o1 o T e -1 £ TSSOSO RSO RTOSRTEPRRRRR 2
(@] o] 1= O U SO OSSOSO 2
MONItOrING @QUIPMENT. ...ttt s 2
IMLBEETTAN 1+ttt etk h ettt 3
WWBIGNT ettt 3
OPTION ettt h e h et 3
AACCESSOTIES. ...ttt a et a e st a e et b e e s h e et a et e 3
LT-Motor rating and performance CUIMNVE........o et 4
MT-Motor rating and PerformanCe CUIVE........cci ittt 5
HT-Motor rating and performance CUMNE........ociirieiiree et 6
DIMENSIONAl AraWiNG. . ccoieeieiiire ettt s 7

Flygt D 8050, 50 Hz Technical specification 1



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

D 8050

Product
Stainless steel submersible pump used for corrosive wastewater containing solids or long-
fibred material.
Denomination
Product code 8050.280
Installation P,S
Impeller characteristics LT, MT, HT
Process data
Liquid temperature-standard max +40 °C
Depth of immersion max 20 m
The pH of the pumped liquid 2-14

Liquid density max. 1100 kg/m?
Motor data

Frequency 50 Hz

Insulation class H (+180 °C)

Voltage variation

- continuously running max = 10%

- intermittent running max = 10%

Voltage imbalance between phases max 2%

No. of starts/hour max 30
Cable

Direct-on-line start

SUBCAB® 4G1,5+2x1,5 mm?
7G2,5 mm?
Y/D start
SUBCAB® 7G2,5+2x1,5 mm2

Monitoring equipment

Thermal contacts opening temp.

125°C

Flygt D 8050, 50 Hz Technical specification



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10

D 8050

Material
General
[tem Material Typical Flygt Material No. | Standard Europe Standard USA
Impeller Stainless steel | M0344.2343.02 EN 10088-2 and ASTM/AISI 316L and
-3:1995 316Ti
Pump housing | Stainless steel | M0344.2343.02 EN 10088-2 and ASTM/AISI 316L and
-3:1995 316Ti
Statorhousing | Stainless steel | M0344.2343.02 EN 10088-2 and ASTM/AISI 316L and
-3:1995 316Ti
Shaft Stainless steel | M0344.2343.02 EN 10088-2 and ASTM/AISI 316L and
-3:1995 316Ti
O-rings
Alternative Material
1 Fluorinated rubber
Mechanical face seals
Alternative Inner seal Outer seal
1 Aluminum oxide/carbon Silicon carbide/
silicon carbide
Weight
See dimensional drawing.
Option
Other cables
Water Detector in motor and oil housing
Flexible protective sheeting for cable
Accessories

Discharge connections, adapters, hose connections and other mechanical accessories.

Electrical accessories such as pump controller, control panels, starters, monitoring relays,
cables.

See separate booklet or www.xyleminc.com, for further information.

Flygt D 8050, 50 Hz Technical specification 3



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

LT-Motor rating and performance curve

P, [kW]
2.5
422
2.0 _— 424
1.5 — m— 28 *
o
H [m]
o LT
N
NN
7 \\\ N,
N
6 \
° \\\\ NN
4 N \ \ \
3 \\\V“ﬁ N \\
N
2 \\\\
1 428 \\\‘
0 \Al’m\ \424\\422
0 5 10 15 20 25 30 35
Q[is]
Curve/ | Rated | Rated | Starting | Power | Ex proof | Installation
Impeller Eower, current, | current, | factor | version
No W (hp) | A A Cosj availabl
e
P S
400V, 50 Hz, 3~, 1340 r/min
422 2.2(3.0) 5.0 18 0.89 J J
424 2.2(3.0) 5.0 18 0.89 J J
400V, 50 Hz, 3~, 1410 r/min
426 1.5(2.0) |33 18 0.84 J J
428 1.5(2.0) |33 18 0.84 J J
430 1.5(2.0) |33 18 0.84 J J

Y/D starting current is approximately 1/3 of D starting current.

4 Flygt D 8050, 50 Hz Technical specification



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

MT-Motor rating and performance curve

Pz [kW]
2.5
20 L 442
’ o 444
15 —
10 P e
N=——
05
0.0
H [m]

i ‘\ MT
AN

Y
L/ V4

LN
NN

0 446 — |
0 5 10 15 20 25
Qlis]
Curve/ | Rated | Rated | Starting | Power | Ex proof | Installation
Impeller Eower, current, | current, | factor | version
No W (hp) | A A Cosj availabl
e
P S
400V, 50 Hz, 3~, 1340 r/min
442 2.2(3.0) 5.0 18 0.89 J .
444 2.2(3.0) 5.0 18 0.89 J .
400V, 50 Hz, 3~, 1410 r/min
446 1.5(2.0) |33 18 0.84 J J
448 1.5(2.0) |33 18 0.84 J J
450 1.5(2.0) |33 18 0.84 J .

Y/D starting current is approximately 1/3 of D starting current.

Flygt D 8050, 50 Hz Technical specification 5



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

HT-Motor rating and performance curve

P, [kW]
3.0
25 — = 262
2.0 26
5L /: —
1-0?’. 272 =
0.5
0.0
H [m]
HT
20
10 EQ\\
12 \\ \‘Q\\
"N
6 \\\\\\\\\\
) \\\EQ\\\\\\
) \\\272%?>266 f64 262
0 2 4 6 8 10 12 14
Q|is]

Curve/ | Rated | Rated | Starting | Power | Ex proof | Installation
Impeller Eower, current, | current, | factor | version

No W (hp) | A A Cosj availabl
e
P S
400V, 50 Hz, 3~, 2800 r/min
262 2.6(35)(58 29 0.84 o .
266 2.6(35)(5.8 29 0.84 o .

400V, 50 Hz, 3~, 2840 r/min
264 2.2(3.0) | 5.0 29 0.81 . .
400V, 50 Hz, 3~, 2740 r/min

268 1.5(2.0) [3.9 14 0.81 o o
270 1.5(2.0) [ 3.9 14 0.81 o .
272 1.5(2.0) 3.9 14 0.81 U .

Y/D starting current is approximately 1/3 of D starting current.

6 Flygt D 8050, 50 Hz Technical specification



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

Dimensional drawing

All drawings are available as Acrobat documents (.pdf) and AutoCad drawings (.dwg).
Download the drawings from www.xyleminc.com or contact your local Xylem
representative for more information.

All dimensions are in mm.

LT, P-installation

REF.LINE 527

86
249 441

L 143

2" GUIDE BARS —

(TO_FURTHEST POI 974

AZIN

2 l o— -4
N1 '//,‘ i/'j'l‘\?
U I/ QALY Y

U \3\ o2,

“i

250

VIEW [Z] - Weight (kq)
* DIMENSION TO ENDS OF GUIDE BARS Tg(sd

mer=|"Dimensional drwg T soay
‘W oP SOD’S‘O‘O%BO L7 7561800

Flygt D 8050, 50 Hz Technical specification 7



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

LT S-installation

M10 THREADED HOLES (3X)
PUMP HOUSING

539 (TO FURTHEST POINT)

e " Dimensional drwg BN
AYIRGAD | DS 3?9)5962080 LT

LT S-installation

0
N|
)|

3
277

M0 THREADED HOLES (3X) | \
PUMP_HOUSING

307
227 |
$L00 HOSE SIZE
MIN LEVEL
f=
0|
|
view X-XI

(TO FURTHEST POINT)

191
=]

Weight (ka)
Total

> [ Dimensional drwg EL¥ n 100623
110 [S"s309
P e ———

Flygt D 8050, 50 Hz Technical specification



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

MT P-installation

REF.LINE
86 -
240 359

2" GUIDE BARS

DN 80 L.
3
1 | E
o P
gl 9l
? I /1 o
o &
R B P
o1
(TO FURTHEST 862
REF.LINE 608
<
A 3
L v'
<
59 REF.LINE 164
)
~]
E|
)

CL_OF DISCH

%
7,
VIEW- Weight (ks
*

Total
TO ENDS OF GUIDE BARS 70

Dimensional drwg
AUTOCAD | DP wﬁgao MT

1:10 "5399
7561800 3

MT, S-installation

472

M8 THREADED HOLES (3X)
PUMP_HOUSING

437 (TO FURTHEST POINT)
33
83 ‘
1
_ 1
10, NPT 3
)
82, o 3
| b€ MIN LEVEL
| ~N|
ke o M)
2 N A R
I
0% o b

Weight (kg)
Total

w3 [ Dimensional drwg EL¥ n|_-100522
Fuio __ [==s309
Ayigsgo | DS 8gs0280 MT IS 2

Flygt D 8050, 50 Hz Technical specification 9



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

MT, S-installation

M8 THREADED HOLES (3X)
PUMP_HOUSING

421 (TO_FURTHEST POINT)

@75 HOSE SIZE

MIN LEVEL

243

+

82
207
177 | ‘

Weight (kg)
Total

n 100622
"5399
0

Dimensional drwg B

AYIggeo | DS 8050.280 MT

7562300

HT, P-installation

- T
1
IN&,
8 1200 &3
9 &
E - Weight (i
3| viev [Z] Total

TO ENDS OF GUIDE BARS

* 50
= [ Dimensional drwg 58_[*100803
1:10 "5399
“W DP 8030.280 HT | cet7m0

3

10 Flygt D 8050, 50 Hz Technical specification



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10

D 8050

HT, S-installation

HT, S-installation

N8 THREADED HOLES (3X)
PUMP HOUSING

125

(TO_FURTHEST POINT)

|
L |
NPT 2
3
150 <Y
100 )
i _SZMN LEVEL
Y o
. |3 — |
250 > 41 ®b
% 331
view XHXI y
M)
| 9
\]
? 1
=
— [Weight (ka)
|103_| s

AYRRMo | DS 850,280 HT

myer= " Dimensional drwg BN

350

M8 THREADED HOLES (3X)
PUMP HOUSING -

9
I ~|
3§

g
o

125

(TO FURTHEST POINT)
YA
140
J
#75 HOSE_SIZE f
3
150 Q
100 9
| MIN LEVEL
[ bi i
| |
— O/ g 1
vew R\ i @b
> 349 |
M)
| =
\}
v |
o
T Weight (ko)
|_103_| T

= [ Dimensional drwg EL¥ n1_100622
-
Agigeeo | 05 8050.280 WT TS [Tases

Flygt D 8050, 50 Hz Technical specification

11



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10
D 8050

HT, S-installation

ol
|

M8 THREADED HOLES (3X) \
PUMP_HOUSING

~. L 125

(TO_FURTHEST POINT)

#50 HOSE SIZE

3
150 QY
100 \ 9
!
T MIN LEVEL
| __
| 3
——\s, T3 0
v HR N\ 19 | ®Y
&3
331
M)
g
\}
|
=

! Weight (k)
|-103_| Total
w3~ [~ Dimensional drwg
15 =530
T g — 3

12 Flygt D 8050, 50 Hz Technical specification



www.motralec.com / service-commercial@motralec.com / 01.39.97.65.10



	Table of Contents
	D 8050
	Product
	Denomination
	Process data
	Motor data
	Cable
	Monitoring equipment
	Material
	Weight
	Option
	Accessories
	LT-Motor rating and performance curve
	MT-Motor rating and performance curve
	HT-Motor rating and performance curve
	Dimensional drawing


